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SF 4 F4AXkEAHE| 9,016 9,802 18,818 7,852 45 100 145 100 9,061 9,902 18,963 7,952
“F 4 F#5AXAHE| 9,014 9,791 18,805 7,862 45 106 151 105 9,059 9,897 18,956 71,967
“F 4 Fe6AXAHE| 8,998 9,793 18,791 7,868 52 102 154 108 9,050 9,895 18,945 7,976
S 4 F7AXBAHE| 8,982 9,766 18,748 7,860 95 99 154 109 9,037 9,865 18,902 7,969
“F 4 F#sAXA®E| 8,973 9,753 18,726 7,857 69 113 182 137 9,042 9,866 18,908 7,994
“F 4 FoAXAHE| 8,953 9,738 18,691 7,849 73 121 194 149 9,026 9,859 18,885 7,998
SF 4 F10AKBHA 0 0 0 0 0
SF 4 F11AKRERE 0 0 0 0 0
S 4 F12RKBH#A 0 0 0 0 0
S 5 F1AKRBRE 0 0 0 0 0
S 5 F2AKBRE 0 0 0 0 0
S 5 F3AKRAHA 0 0 0 0 0
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